


28 H =S =
10 21 11 22

28 204

28 10 21

28 11 22

28 H16



2 8 1130

201464020 1149 5.3
2016021 1407 6. 6
20146112 0643 5.9
2016122 0559 7. 4
20146122 2303 5.7

2016124 0623 6. 2



28

10 20 11 49
M5.3 37km

BEAHE
FLEI
W=
BEE6®
BE6H
S =Esam

EEIABEEHEEEO LA . AR e HESH: H ESa

x x



28 11 12 06 43
M5.9 58km

EESTEH
FLi
|

EE 6
IE,EE; EEMBEOREGO A5 mER  REe mES3 W ERd

o]
El=mss
[a]mEa

Elz=xa
2| mRE 2
[[]@eE




281021



28 10 21 14 07
M6.6 1 km

L - S L

S 130°E 131°E 132'E 133E 134'E 135°E 136'E 137E 138'E 139°E 140°E

{[’“‘j [ #xm
iz : EEAHE
5 A
36° 00" . =y
I EfE 6%
EE65H
; Si| Err s
AR EAT =~
s frsmr ;ﬂ"d
35-30-%. 3 \\h ...... o X 'Q‘F'S'-I'_';-:;I E
[ Lt tsm# m“’!'-;-
e g g LS. REASDGEHREO AE: HER  RKEe ERESEs HREga
] g 1§ 4 a .—4-4
B 4l = nl = r] _, ’ ‘u 5 B EE 1
Hm o ard g
SRy T
-]
133° 00 133 30 134" 00' 134 30




28 10 21 14 07
M6.6

50cm/s
cm/s
cm/s 7.8 5cm/s
period = 1.6[s] period = 2.0[s]
130° 135" 130° 135" 140°

1407

35"

307

1 km

1.6

= 4.0]s]

140"

period
130°

136

3135

3 8 330"
130° 135 140° 130° 135 140 130° 138° 140°
period = 6.0[s] period = 7.8[s]
Al L 40 130° 138" 140°
35 ag 35
I = _—
0 3 5 10 15 30 50 100 200
cm/s
130 135 140 . o 8

138"

1407



[cm/s]

28 10 21 14 07
M6.6 1 km

60

40 -
30 -
20 |

10 |

km
60km 150km

160km
260km

5.0

3 3km

58. Bm

1 Bkm

165km

262 kn

3 9km




28 10 21 14 O7

km

1

M6.6

237

14
12

203

81

1U

63

E&ke KSR HRE&a

WG

ERAEZ@RSRO L.E: Il RS



281122



28 11 22 05 59
M7.4 2 Bm

EESME
JL3

| B
I%:Jgeaﬁ
EE65H

EE5H [

iiigg ERERI\EESREEHO LA - RS e HESH: H ESa

3 e
2| e 2

R

12



40

135

period = 1.6[s]

P

135"

140 45°
W |
P - I.
LR
B
I 1 5 |

M 40°

35

140° 145"

period = 6.0[s]

140 145"

|

135"

1407 1457

40°

35

40°

35

28 11 22 05
M7.4

period = 2.0[s]

135 140° 145"

|

R

135" 1407 145°

period = 7.8[s]
135" 140° 145
L - 1
40"
o ¥ o
135 1;0' 145

59
2 Bm

period

= 4.0[s]

140

/f

0

3

5

10 15 30 50 100 200

cm/s

13



28 11 22 05 59

[cm/s]

40

30

20

10

M7.4 2 Bm
77km
150km
210km
230km
270km
-
==
==
===
V/\\v\ N
= - ~ 7R
| = N

7 68 kn

148km

207km

231 kn

273km

14



28 11 22 05 59

M7.3

10km

ERAEZ@RSRO L.E: Il RS

E&ke KSR HRE&a

w/"\O/‘ 28
L el 18 34 1 0 0
11 70 8 0 0
0 9 25 1 0
0 0 0 0 0
0 0 0 0 0
o ;m’e; I})
slvel 2 80
alevel 3
e level 4 27 11 0 0 0
0 24 6 0 0
0 1 10 1 0
T 0 I s S 0 0 0 O\I\ .
0 0 0 0 0
+1 100.0% L]
0 0
0 1

H=

WG

d



28

116



28 4 16 01 25
M7.3 12km

ki P s i{)
0 100 200 . ¥

=

36°N

34'N

o v’ n — —
o 130°E 132°E 134\:E 136°E 138'E 140°E

EESTE
FLl
W=
Iﬁﬁeaﬁ
6
Bl =msn
EESEE
[4] iz 4
Bas FERmREHKEO AP MBS BEe EESc W ERe

KR

23000 ¢

-
3233-_1

17



28

16

01 25

M7.3

1 km

139°

1407

1417

- 35°

141°

26

18



20515 30
20 23

2061 4 16
01 25

2061 5 16
21 23

2 061 10 20
11 49

2061 11 22
05 59

===

8.1

7.3

55

53

74

19



